Math 271 - Fall 2012 - Quiz #2

Name: @

} Show all work clearly and in order. Please box your answers. 10 minutes.

Score: out of 10.

1. Fill in the following table with the missing classification information:

ODE order | linear/nonlinear
y'+2zy=1 2 LINEAR
2 1
(%) + (%) =z 2. NON LA NEAR
T x
sin(z)y™® +1In(z)y = cos(z) | 4 LINEAR

2. (a) Verify that y = 150" is a one-parameter family of solutions to 3y’ =y — 2.
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(b)

Find a solution to the initial value problem (IVP) consisting of the differential
equation y =y — y? and the initial condidtion y(—1) = 2.
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